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D MISSION BANK-2024 ema2xa 9= (i

Statement:
Only a few W are M.
All P are M.

Conclusions:
I. Al W can never be P.
I1. At least Some P are W.

01. Only conclusion I follows.

02. Only conclusion II follows.

03. Either conclusion I or II follows.
04. Neither conclusion I nor II follows.
05. Both conclusions I and II follow
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Statement:
Only a few B are L.
No B is S.

Conclusions:
I. Some S are definitely not L.
I1. All L can never be S.

01. Only conclusion I follows.

02. Only conclusion II follows.

03. Either conclusion I or II follows.
04. Neither conclusion I nor II follows.
05. Both conclusions I and II follow.
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Statement:

Only a few W are C
Some B are W

No D is C.

Conclusions:
I. At least some W are D.
I1. All C being B is a possibility.

01. Only conclusion I follows.

02. Only conclusion II follows.

03. Either conclusion I or II follows.
04. Neither conclusion I nor II follows.

05. Both conclusions I and II follow.
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Statement:

Some P are S

Only a few S are N.
No N is aP.

Conclusions:
I. All N being S is a possibility.
I1. Some S are not P.

01. Only conclusion I follows.

02. Only conclusion II follows.

03. Either conclusion I or II follows.
04. Neither conclusion I nor II follows.

05. Both conclusions I and II follow.
4 @Reasoningbybasantsir




D MISSION BANK-2024 o233y =T | @

Statements:
L>RRZ2T, TZ2M
Conclusions:

I.MZ2R
ILT<L

(1) Only conclusion II is true.

(2) Only conclusion I is true.

(3) Both conclusions I and 1I are true.

(4) Neither conclusion I nor conclusion II is true.
(5) Either conclusion I or conclusion II is true.
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Statements:
P=R,R<F,F<T
Conclusions:

I. T<R

II.F<P

(1) Only conclusion II is true.

(2) Only conclusion I is true.

(3) Both conclusions I and 1I are true.

(4) Neither conclusion I nor conclusion II is true.
(5) Either conclusion I or conclusion II is true.
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Statements:
P<Q<R=S,U>V>S
Conclusions:

I.P<U

I.P=U

(1) Only conclusion II is true.

(2) Only conclusion I is true.

(3) Both conclusions I and 1I are true.

(4) Neither conclusion I nor conclusion II is true.
(5) Either conclusion I or conclusion II is true.
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Statements:

G=T, T<W,W>K
Conclusions:

I. W>G

II. W=G

(1) Only conclusion II is true.

(2) Only conclusion I is true.

(3) Both conclusions I and 1I are true.
(4) Neither conclusion I nor conclusion II is true.
(5) Either conclusion I or conclusion II is true.
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There are a certain number of floors in a building. No floor
is vacant. Only one person stays on each floor. The persons
living on the floor are given either age or name but not both
(Example: If P lives on 1st floor, then his age is not given,
similarly, the one whose age is 10 lives on 2nd floor, His
name is not given). The ground floor is numbered one, the
one above it is numbered two and so on. There are three
floors between V’s floor and the floor of the one whose age is
12. The one, whose age is 30, lives immediately below V’s
floor. There are two floors between the one whose age is 12,
and the one whose age 17. The one, whose age is 8, lives just
above U’s floor. The one, whose age is 17, lives just above
Z’s floor. The age of the person, who lives on the lowermost
floor is not given. X lives on the floor which is three floors
above the floor of the one, whose age is 8, lives. The one,
whose age is 27, lives immediately below X’s floor.
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There are three floors between V’s floor and the floor of the
one whose age is 12. The one, whose age is 30, lives
immediately below V’s floor. There are two floors between
the one whose age is 12, and the one whose age 17. The one,
whose age is 8, lives just above U’s floor. The one, whose age
is 17, lives just above Z’s floor. The age of the person, who
lives on the lowermost floor is not given. X lives on the floor
which is three floors above the floor of the one, whose age is
8, lives. The one, whose age is 27, lives immediately below
X’s floor.

Four of the following five are alike in a certain way and
hence form a group. Which of the following does not belong
to the group?
(1) The one whose age is 30 years
(2) The one whose age is 27 years
(3) The one whose age is 8 years
(4) The one whose age is 12 years
4 @Reasoningbybasantsir (5) The one whose age is 17 years
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There are three floors between V’s floor and the floor of the
one whose age is 12. The one, whose age is 30, lives
immediately below V’s floor. There are two floors between
the one whose age is 12, and the one whose age 17. The one,
whose age is 8, lives just above U’s floor. The one, whose age
is 17, lives just above Z’s floor. The age of the person, who
lives on the lowermost floor is not given. X lives on the floor
which is three floors above the floor of the one, whose age is

8, lives. The one, whose age is 27, lives immediately below
X’s floor.

How many floors are there between U and V?
(1) One

(2) Two

(3) Three

(4) Four

(5) Five
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There are three floors between V’s floor and the floor of the
one whose age is 12. The one, whose age is 30, lives
immediately below V’s floor. There are two floors between
the one whose age is 12, and the one whose age 17. The one,
whose age is 8, lives just above U’s floor. The one, whose age
is 17, lives just above Z’s floor. The age of the person, who
lives on the lowermost floor is not given. X lives on the floor
which is three floors above the floor of the one, whose age is

8, lives. The one, whose age is 27, lives immediately below
X’s floor.

What is the sum of the age of the persons living on the odd-
numbered floors?
(1) 25
(2) 20
R)RLY
4) 29
(5) None of the above
4 @Reasoningbybasantsir
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There are three floors between V’s floor and the floor of the
one whose age is 12. The one, whose age is 30, lives
immediately below V’s floor. There are two floors between
the one whose age is 12, and the one whose age 17. The one,
whose age is 8, lives just above U’s floor. The one, whose age
is 17, lives just above Z’s floor. The age of the person, who
lives on the lowermost floor is not given. X lives on the floor
which is three floors above the floor of the one, whose age is

8, lives. The one, whose age is 27, lives immediately below
X’s floor.

Who among the following lives two floors below the floor of
V?

(1) X

(2) The one whose age is 8 years

3) U

(4) The one whose age is 27 years

(5) None of the above
4 @Reasoningbybasantsir
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There are three floors between V’s floor and the floor of the
one whose age is 12. The one, whose age is 30, lives
immediately below V’s floor. There are two floors between
the one whose age is 12, and the one whose age 17. The one,
whose age is 8, lives just above U’s floor. The one, whose age
is 17, lives just above Z’s floor. The age of the person, who
lives on the lowermost floor is not given. X lives on the floor
which is three floors above the floor of the one, whose age is

8, lives. The one, whose age is 27, lives immediately below
X’s floor.

Whose age is 17 years?
(1) The one who lives on the 7th floor
(2) The one who lives on the 5th floor
(3) The one who lives on the 2nd floor
(4) The one who lives on the 8th floor
(5) Can'tbedetermined
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Six persons are going to the six different cities on two ,
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
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Six persons are going to the six different cities on two ,
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
Who among the following goes on 16th March?

(a) The one who goes to Jaipur

(b) A

(¢c) F

(d) The one who goes to Pune

(e¢) None of these
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Six persons are going to the six different cities on two ,
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
The one who goes on 7th May, goes to which city?

(a) Jaipur

(b) Chennai

(¢) Indore

(d) Pune

(e¢) None of these
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Six persons are going to the six different cities on two ,
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
Which of the following statement is not true about E?

(a) B goes just before E

(b) E goes to Pune

(¢) Only two persons go between E and F

(d) More than one person goes between E and D

(e¢) None of these
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Six persons are going to the six different cities on two ,
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
Which of the combination is true?

(a) D-7th March

(b) B- Jaipur

(¢) C-16th April

(d) D- Varanasi

(e¢) None of these
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Six persons are going to the six different cities on two ,
different dates i.e. 7th and 16th of three different months
i.e. March, April and May of the same year. B goes in the
month which has an odd number of days and on odd
number date. Two persons go in between B and the one
who goes to Pune. Only two persons go after the one who
goes to Varanasi. A goes to Delhi on an odd-numbered date.
Only one person goes between A and F. As many people
who go before F, as many people go after C. More than two
persons go in between D and the E who goes to Indore. F
does not go to Chennai. One of the persons visits Jaipur.
Who among the following person goes to Varanasi?

(a)D

(b) C

(¢c) F

(dB

(e¢) None of these
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Which of the following is the fourth to the left
of the sixth to the left of W in the above
arrangement?

IUTIh SATEAT H A TARIT H O shid W ok 910
U TS ok 16 § =TT 32

01.U
02.D
03. E
04.7
05.9
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@ R©J*I9Q8@M5%PU2AD7F8S43ZEK1WN6#VY

How many such consonants are there in the
above arrangement each of which
immediately followed by a symbol but not

immediately preceded by a number?
mwﬁﬁﬁﬁmgrmﬁﬁﬁ@r
TIeh oh A d18 Ueh T 1eh § Sfeh dieh Ut
Teh & 8T 22

01. None

02. One

03. Two

04. Three

05. More than three
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How many such symbols are there in the
above arrangement each of which is
immediately preceded by a letter and
immediately followed by a number?

SUTIh SATET H U foha Udieh & RAE o
mgaﬁmmw TR 3R 3TF 1 Tk
T 22

01. None

02. One

03. Two

04. Three

05. More than three
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Which of the following is the ninth to the rlght
of the seventeenth from the right end in the
above arrangement?

SUIIRE SIaT ¥ fAeferiad & & i a1 e/
BR Y IS o 1 O gt 27

01.N
02.$
03. 4
04. W
05. K
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Six members of a family E, K, O, F, D and W
are related to each other. E is the father of K
who is the only son of D. The only Unmarried
sister-in-law of E is W who has no brother. O
is the only sibling of E. F is the daughter of K.
TR UNaR F B USH E, K, O, F, D 3Tk W Teh
T | Wt gl E, K T fUar g S D 6t
SRAATAT U 2| E ST ehaiTdl aTferaigd Wret W
2 TRt g WS 21 21 O, E T Sohaitdl Uit
21 F, K hT gt R

9
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Six members of a family E, K, O, F, D and
are related to each other. E is the father of K
who is the only son of D. The only Unmarried
sister-in-law of E is W who has no brother. O
is the only sibling of E. F is the daughter of K.
How many females are there in the family?
01. One

02. Two

03. Three

04. Four

05. Cannot be determined

4 @Reasoningbybasantsir




D MISSION BANK-2024 o235y @ <X \g

Six members of a family E, K, O, F, D and
are related to each other. E is the father of K
who is the only son of D. The only Unmarried
sister-in-law of E is W who has no brother. O
is the only sibling of E. F is the daughter of K.
If Q is married to K then how is Q related to
0?

01. Daughter

02. Sister

03. Mother

04. Niece

05. Daughter-in-law
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Six members of a family E, K, O, F, D and
are related to each other. E is the father of K
who is the only son of D. The only Unmarried
sister-in-law of E is W who has no brother. O
is the only sibling of E. F is the daughter of K.
How is F related to D?

01. Granddaughter

02. Sister

03. Mother

04. Niece

05. Daughter
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